
SAP ABAP table KKRDHIE {Internal Structure for the Blocked Object: Summ. Hierarchy}

KKRDHIE

MANDT [CLNT (3)]

HIART [CHAR (2)]

HIEID [CHAR (8)]

KOKRS [CHAR (4)]

T000

MANDT [CLNT (3)] KKRDHIE-MANDT = T000-MANDT 0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]
 KKRDHIE-KOKRS = TKA01-KOKRS 

0..N

0..N

TKKR0

MANDT [CLNT (3)]

HIART [CHAR (2)]

IDENT [CHAR (8)]

 KKRDHIE-HIEID = TKKR0-IDENT 

0..N

0..N

TKKRA

MANDT [CLNT (3)]

HIART [CHAR (2)]

 KKRDHIE-HIART = TKKRA-HIART 

0..N

0..N


